




shower room

12

5

Installation Tools Suggested (Prepared by User)

Installation of Rubber Strip

4

4



shower room

12

5

Installation Tools Suggested (Prepared by User)

Installation of Rubber Strip

4

4



R1201C1 tape4

clamp of top glass   

Installation Tools Suggested (Prepared by User)

2.0 Single side tape1 2

5

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
  materials 

LC158A               aluminum 
materials 

              aluminum 
  materials 

 Lrubber mat(right)

Installation of Rubber Strip

6 7 rubber mat(left)  rubber mat

4X10                 *4

13 14 15 16

4X18 countersunk 
wood screw *4

6X30�hexagonal screw*64X35 round head screw*8

5X16 countersunk 
wood screw*2

M6 nut*6 M6 stainless steel 
gasket*6

M5 nut*4 M4 nut*4

Rubber axe 

11

8 9 10

12



R1201C1 tape4

clamp of top glass   

Installation Tools Suggested (Prepared by User)

2.0 Single side tape1 2

5

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
 materials 

              aluminum 
  materials 

LC158A               aluminum 
materials 

              aluminum 
  materials 

 Lrubber mat(right)

Installation of Rubber Strip

6 7 rubber mat(left)  rubber mat

4X10                 *4

13 14 15 16

4X18 countersunk 
wood screw *4

6X30�hexagonal screw*64X35 round head screw*8

5X16 countersunk 
wood screw*2

M6 nut*6 M6 stainless steel 
gasket*6

M5 nut*4 M4 nut*4

Rubber axe 

11

8 9 10

12



12

14

8

15

11

13

II. Installation of back panel

( Fig.2) ( Fig.3)

III. Installation of side glass

( Fig.4)

334 rubber mat 

( Fig.5)



12

14

8

15

11

13

II. Installation of back panel

( Fig.2) ( Fig.3)

III. Installation of side glass

( Fig.4)

334 rubber mat 

( Fig.5)



15

16

9

5 6`
7

10

10

glass door frame

glass

Lc331aluminum

R1201C1 tape

10

10

( Fig.6)

( Fig.7)

( Fig.8)

1.First fixed glass mounted to the activities of the glass door frame, use a screwdriver to lock LC331 

aluminum below the      screw.

2.Install the R1201C1 tape vertically into the aluminum groove of the LC331 aluminum. Use a 

screwdriver to lock the LC331 aluminum upper      screw.

glass

Lc331 aluminum

( Fig.9)



15

16

9

5 6`
7

10

10

glass door frame

glass

Lc331aluminum

R1201C1 tape

10

10

( Fig.6)

( Fig.7)

( Fig.8)

1.First fixed glass mounted to the activities of the glass door frame, use a screwdriver to lock LC331 

aluminum below the      screw.

2.Install the R1201C1 tape vertically into the aluminum groove of the LC331 aluminum. Use a 

screwdriver to lock the LC331 aluminum upper      screw.

glass

Lc331 aluminum

( Fig.9)



9 10

1

2

1

1

( Fig.10)

clamp of top glass   

( Fig.11)

( Fig.12)

( Fig.13)

Tips:

    When installing rubber strips difficulty:

    1.Using detergent water wipe the waterproof rubber strip surface can be install easily.

    2.Looseing the 4×35 round head screws, screw up when you installation completed.    



9 10

1

2

1

1

( Fig.10)

clamp of top glass   

( Fig.11)

( Fig.12)

( Fig.13)

Tips:

    When installing rubber strips difficulty:

    1.Using detergent water wipe the waterproof rubber strip surface can be install easily.

    2.Looseing the 4×35 round head screws, screw up when you installation completed.    



11 12

Nozzle pipe

Installation of shelf 

Installation handle

Rubber gasket

Rubber gasket

( Fig.14)

Stainless steel clip

Fixed clip ( Fig.15)

Stainless steel clip

Side spray

        1.Hand wheel A is the function-shifting switch. The rotation of the wheel in different 
directions will shift the functions such as side spray, shower, back spray and top 
spray etc.
        2.Hand wheel B is the cold/hot water switch. Pulling up the wheel will let water in, 
while turning the wheel in different directions will adjust the water temperature.

Back spray

     For hard water areas ,steam generator must be cleaned regularly for scale removal, 
particularly when water level is sensed by probe sensor (marked on steam generator 
surface).Generally,check it for every 3 months and clean it based on scale level. The 
proper way of cleaning should be like this: shut down system for 4 minutes or above
（keep controller energized）,dilute2.5~3g citric acid with 400MLwarm water ,Rotate 
to remove the function The middle part of the back cover can be seen after cleaning the 
hex nut, rotate the nut again, turn it on when citric acid solution is filled into steam 
generator through steam outlet(for details see Steamer Cleaning Instruction) and start 
cleaning. It is suggested not to shut down system or cut off electricity during cleaning. 
Steam room can be reused only when the whole process is completed for fear that 
detergent residuals flow into steam room.

Steam cleaning machine

water box

Shower pipe

Steam pipe



11 12

Nozzle pipe

Installation of shelf 

Installation handle

Rubber gasket

Rubber gasket

( Fig.14)

Stainless steel clip

Fixed clip ( Fig.15)

Stainless steel clip

Side spray

        1.Hand wheel A is the function-shifting switch. The rotation of the wheel in different 
directions will shift the functions such as side spray, shower, back spray and top 
spray etc.
        2.Hand wheel B is the cold/hot water switch. Pulling up the wheel will let water in, 
while turning the wheel in different directions will adjust the water temperature.

Back spray

     For hard water areas ,steam generator must be cleaned regularly for scale removal, 
particularly when water level is sensed by probe sensor (marked on steam generator 
surface).Generally,check it for every 3 months and clean it based on scale level. The 
proper way of cleaning should be like this: shut down system for 4 minutes or above
（keep controller energized）,dilute2.5~3g citric acid with 400MLwarm water ,Rotate 
to remove the function The middle part of the back cover can be seen after cleaning the 
hex nut, rotate the nut again, turn it on when citric acid solution is filled into steam 
generator through steam outlet(for details see Steamer Cleaning Instruction) and start 
cleaning. It is suggested not to shut down system or cut off electricity during cleaning. 
Steam room can be reused only when the whole process is completed for fear that 
detergent residuals flow into steam room.

Steam cleaning machine

water box

Shower pipe

Steam pipe


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

